AFiER
R LEFEEAPACKING LIST

FBF: EMHEEFRIHERATEN #24

1,FE2S5E:

T=: | H2023011551-1552 Bt E 5000kg

EBA$AY | THJ 5000kg / 0.63 - JXVF 5= BRANET3000 +—(AML,
B/ 4/4/5 AR

AR | 2700%x3330x2800 HFIIRS: h43POE2700 x 2400
2 fES5%E:
e & FEE R |lags= &%
1 |BEsME  |I=HiE, B8N, HRBSIPHRTESEE NGE]

2 R |HFEIRE, MIKIEEE, BPEE, BRIPER R B R

3 |FEMRfE |BEMR, TR (4B, BR1D. UELHE, KR NG

4 ItRFE |BIR, BINE N E—IAFE
5 |34 |[MUBERFEZMYE, 1ReEiEN, ' N

6 |SNZZEASHIEE, W|E, EH, SINES, 1B N

A EE = ]

8 [IIWNFE [ IWLEER IR, 1R N

9 [INkfE (B EEAN, 1B N

10 |EHEE  |FHR, SHRLERE, SHi EeLRE

11 [5mER | R RIBR B vapE =

12 [FmETFR | TR Ea e

13 SRS |FRESTAE R B, HE e

14 3985 |WEE, WERES, FRELRT, ES YApE 6 5

15 |7E2 |[FETR, BB, B, B3R Ea ey

16 |{W28 | FiNeLB, B3INLE 4

17 [MEHR  [WEHR R

18 |siriEsR S, BIREH

TEDMHE: 18 %

TR AEEINE, L EA—ariERIE2E

Flz=: B - Htx: eE: &Ei&:
BiEENEI: BE8:
R HE8:

R MSEAERERAIREYOR 85 FRFRAN, MEBIGEZAE=4T(EH




MOB R B/E OB

ayua~R= H2023011551-1552 B3/ 4 / 4 /5
FEmEE THJ 5000kg / 0.63 — JXVF SR AR~ 2700 3330 X 2800
BB BT B R IR A mlLg2g FEIIH R U - 27002400
RS | Al &% W K5/ z B OF & ik B4 %
(s 1-2938 T ERL,
1| ¥ U NS 1A ) o ! = | FiF25arEa, &
S B, g U bR 3‘5—‘?@1}(1‘&\ 5@?221‘)):(
IAY TR JEbRBE 392X 130 2 1 EAR S
IAY 5 AR JEbRBTE KJiE: 1.=2896 2 | 1, Sl o
¢ Fil S8R AEFRHEE 260X 130 8 43 55 F R
¥ LREEEEL IRl KJE: 1=390 4 s 0235 LAMHTE
* HiTife L& EbR B K. 1=340 2 14 0
PAY D EIRaGIS] KJE: 1=510 2 i 0
* RN SEAE A JEbRbE KJE: 1=4060 2 % 2084
1AY SENTAEA A bR B KPE: 1=3546 4 % 148RI4R
1AY PG Bl E KpiE: 1=2700 2 % 14140
b d e ElEiis] HMR 2764 X 3330 1 B | 1281, W EAESURR
AS HlfAR EIRaGIS] 240X 378 2 4 R
Yo R4 bR B K. 12938 1 = | coniit, SERER
1AY 55 N R JEbRbE K. 1=2896 2 B | 14, SRS
ie PN FEFRH K 1=2970 2 % | esmtk Mzt
¥ BRI AEFRkEE FRREH=1100 1 %= Z%ﬁfé ;g@zﬁ
" % EREE WA Y 0 I kE
Pid FeEoas E[ENiE] KJE. 1=2300 4 2% |M20FuAT, EI3AMREE/
Pie SRR EIRAGIS] KB 1=1800 4 2% [M20hihT, mEsAMEAE/ %
2 | A UZY e JEbRBE 184, 1% : 180 4 N |5 R
6 | A LRl El2AGIS 400-9-10-16%854k 4 2 A
11| * P AT FrEfE fit ©20 FifF 8 A FCM18X908EA%:
16| A h&EK [Pl 4 A w4 H
BRI A e S Bebbbrit 130X 50 X 50 12 A TRBE
19| % 5 KIEH L=3000 1 %
20 | * o DB10-4 KJE: 1L=270 2 1
21 | * TR B DB10-9. 1 220%65 1 = B
22 | ¢ TR R S e DB10-9. 2 265%80 + 70%80 1 = R
24 | ¢ kb LR FrifE L=400 2 ES Ea Wi
25 | A B S ficT127/B, Z35FLEET5XT75 H104 5244 54t 4 A
26| A B S BCT75/B, %2EFLEET5XT75 H1025% 4 Sk 8 A
2% | A ST i EH s 8 e [ b,
. SXL05IRAT % % 4t Cugikn) Gwge|  SRVFAMIERL = 8700KG i L MR
o) a A B RARAT., TR | 0. 60/ , T 16 | | Bl gop
21 | A AR oK s gh, BRBIATE: 2695 1 £ | BEELEL
28 | % _FIPUKSH 5 3 28 | 1 | RmREERE
e A RL: 1. SmmEN iR I K £47030)
29 | ¥ HTEERR =90, H=2400 1 P
30 | J& HHEERR =0, H=2800 0 1
| 31| MRG J5BERR L=325, H=2800 4 | s permagiaicox s
B [ 32 ] o BE R =500, H=2800 10 1
33 | HITEERR =90, H=2400 2 1
34 | o HTEER 1=90, H=2400 1 1
35 | ¥ BRI IHE 1=2764, H=400 2 1 43 P 2700
26 A i Bh S5 ZRHEED L63X63X6 L=250 63 14 FLiE13
A B F PR AE L63X63X6 L=200 63 s FLAZ13
37| A F I L75X 75X 7 L=300 21 14 FLIZ18
A T PP L75X 75X 7 L=350 21 s FLIZ18
38 Bl 39S B RS L75X 75X 7 L=200 42 1 FLIZ18
A FRIFIE s & L75X 75X 7 L=1570 42 fF [ R, fL1R18
e | 30 A Bl T 4 L75X 75X 7 L=1892 21 lis FLIZ18
i A Ll N L63X63X6 L=1570 63 f FLAEL3
40 | A ) FPE ST L75X 75X 7 L=? 0 s FLIZ18
41| A AHEERY L50X50X5 L=100 210 fF FLAEL3
42 | A FHE L50X50X5 L=500 210 1
N 5K/ | B E: 10 4% N
; A B E S T127/B 11@ ¥iE, 2 2 52 *
5/ 2| BE: 20 4% N
A A EhER T75/B Ok & 1 % 104 ¥
rEH B0 S 6



M B R

i

iH &

PR H2023011551-1552 B/¥/17] 4 / 4 /5
s THJ 5000kg / 0.63 — JXVF BRI AR~ 2700X 3330 X 2800
- Iab oy VT 72 M EE BR A Fl1 828 FIARER U - 27002400
A | T [ BB % W 5/ z W B BF & e i % IE
5K/ BE: 10 % .
4| A X H S TK5A ok gl 2 & 52 ¥
45 | A T FPIEER T127/B 10 1
A B S PUER T75/B 20 4
46 | A Bl PR TK5A 10 1
471 A £ FHUEN T127/B 24K 94 A | FHESC R ST
A PSP T75/B 8K 178 H
g 14| A H S PUER TK5A 5K 110 H
Ml4a] A EEHER T127/B 24K 20 H FRAz A 2 F
50 | A BN SR h A JEbRBTE KJE1L=1100, fLEE156x156 | 2 1 B LD-HC-L17
51 | A BT R BCTK5A%H FLEF100, ® 13X 40 0 Jui B %05
52 | A BRI BicLD-HC-L17, FL¥H156x156 KFEL=1100 2 Jai an
53 | * SHE litT127/BHL €= 0.5mm, 1.2mm 75 i JE A
* SR Bt T75/BEL £=0.5mm, 1.2mm 150 1 )
54 | % S Fit TK5 A% &€= 0.5mm, 1.2mm 75 1 B
55 | A RIS & JE AR 8 g
56 | Y¢ X E 4 (5000KG) bRk E 1580 X 4800 1 = BN
57 | ¥¢ X 4R JEbm b 208X 360 2 # 0
58 | ¥ PHLE IR EIRaGIS] 140X 180 4 4 0
59 | X EAR bR B 180X 48 6 | . A AR g2
60 | ¥ LR JEbnbt 922X 785 4 1 KA
- 61 | Y INER JEdn b 922X 785 2 f KR
® o AR JEbRBE 785X 510 6 1t 0
62 | Y NER e EIRaGIS] L=510 8 is 0
63 | * 38 5 JEbRBE 200X 165 2 1t 0
57 | A o} BB IR 57 28 0 15 S E
58 | A X S5 JEbRBE 400-9-10-16 2 A 2 i 7 o) B 2
60 | A EEIREN EI2AGIS 760X 450 X 60 106 1 | k135, 56kg/ff
61| A RS I H I FTKS5A%L HEAtl: B=17 4 A fil LU AR
JEST) 70 | A e R 4JE LD-HC-L17 2 A
71| A X BRI 4t JE LD-HC-L17 2 A
72 | % JEYTICEA ERE: H=1500 2 i
ke o HEHLE : 0.63 m/s
3 A FRd 2% 445 . ®8 mm 1 E il Ll Ak
Ficok B4 B R
- 74| % (RS JEbRE 1=430 4 £ | BET127/BEH
Jvs) 75 | % PRI IS 48 EIRaGIS] L=390 4 4 liiT127/B% F
77 | * PR DB10-7 300X 80 4 % &A%
81| A BRI 8%19S+NF-10 Hit: @10 1170 K 130K X 9%
82 | A [RIE SN2 25 8%19s+PP-8 B2 8 55 * 55 X 14
W
w |83 A D8 6 N
w [ 81] A HIHE @10 ErIJehR: 544 18 %=
85 | A DAk RS 0 0 E 4: 1%
86 | A fit Sk MR ST 48 B 180%55 1 o gk
87 A RIS WA 10750550 1 £ | BEEE R
W i E: 5000kg FUE: 0.63m/s
= 1k | W51tk 4:1 I 24. 6kw ™ s
?;IL 11 & AR WWITE il 5h 2 L - 110V ! o L6
4. ©400-9-10-16
ﬁ%ﬁ}zﬁ B2Ul; e



MM B R

B iE B

Ve a1 H2023011551-1552 BE/3/1] 4 / 4 /5
i EE THJ 5000kg / 0.63 — JXVF BRERRT 2700 3330 X 2800
P T 22 B R BR A w12t FEIIARER T PR : 2700X 2400
|5 | AR % W K5/ A z W K/ L % &
82 | ¥ EIe JEbRBTE B WY T-TE ML 1 1 Tl A R
e HLELE Jebr b & L=570A11.=340 2 1 HEEEL. 2
83 | ¥ Yo L AR B EIRaGIS] 510X 410 1 P | mese 2, s
84 | ¥ W R gt Jebr b 1410X410 1 | e SR
85 | R 4 Sk AN bR B KB L=760 1 | 288K, 41RAE
86 | ¢ ot 40 AN Jebm b K. L=470 1 fF | 25884, A
87 | Jedn Ay G Jebm b 0 % | 25 ENLEUE SET
88 | & | MM/ NI 4RECTE4E JEbr b KJE: 1=410 4 % | Q235 t4fRdTs
%ﬁ 89 | ¥ R S R b b K. 121570 ! | WAL
Bl 190 1AY FRE 2 TH KJE: L=5000 2 % | 40ta T, WOE TR
91 | % 7R I 22 bR B K BE. 1=2200 2 % | 28#afleN, ficfl
92 | ¥ I IEAR LK 500X 600 0 14 I Bk I
93 | E T TH KJF: L=900 2 s 16#b AN
94 | ¢ R LK K. L=600 1 1 228b 84N
=R =
% Ui J b 850, B E: 180 12 g | LR T
96 il AEbR B ®400-9-10-16 2 A | 5B
96 SN EIRaGIS] ®400-9-10-16 1 AN | SRR
95 | A AR AT A R4 TE3000+— AL, 1 £ 37 kw
A UCMPAR MCTC-SCB-C 1 £
9% | A BEATHLOE . IHZE i s 25.7 K 1 = L ACE ]
97 | A S HLEE R % 4 A
98 | A R e T 7 S YR R o BEL 1 £
199l A B th 4/4/5 | 1 £y
gﬁﬂi 100] A | A aE CEIBD TRa P | 2 1
= 101 A HH 3l R I TR A 2 g
g [102] A T T 1 A
03] A ] 1 A
104 A YU AR HE [ mpapi) 220V / 40W 2 A
105 A aMEE 2 g
106 A e 25 3% KL 2 g
107 * BRI q235, t4 2 A EHumH
108 A Fp 205 [ 5 4k L= 1000 /% 6 %
109 A 1% HL R R 2% EUPS AT 37 kw 0 A 100A
110 A FEYRAE LTI =P epio) 220V / 60W 1 A
111 A JEIEST AC220V 60W: 7 55 5 A
g | 112] A - RUKSH K 1 i
2= (113 A G AR I R LX29-7/3 0 A
o114 A R 220VELKE: & 80fT 6 2 3+
16| A BRALFE Y (1370) 4 A
117 A BN 1 £
18| A e BB 1 S
119 A NAEAKT 1 A
120 A R A [ % HD/BRB 2 it
121 A - [A] B A 2 S 4% BVERFRERIA : 16 mm? 60 S
122 A e 3X0.75 mm? 20 *
123 A 2. Smm’ 4 Hh 2k 20 X
124 A 6mm2 T 4 AR 20 P
125 A | AR B 26 ES
126 A B 80X60X1.2 5 %
127 A LR REERAR 10 i
B | 128] A GBI KA, @30 3 K BB
e 1129 A SRIE Kiffwig, @10 5 K FiE
#o{130] A W Rk ®30 mm 4 A
fF131] A IRk ®10 mm 10 A
132] A SRR D13, I 6 K JRITEZHA
133 A IR Sk @13, 90° 10 g
134 A Y %Ki 200mm 200 %
135| A JEEIK R D6 mm 174 i
136 A iR A 3 &
137 A HRLRME (M) 24 A
138 A NN SV5. 5-6 20 A
139 A H UM SVI.25-3.2 40 A
@A #3946 R



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M OB R

i

L]

- =2 H2023011551-1552 B/¥/17 4 / 4 / 5
FRis THJ 5000kg / 0.63 — JXVF B AR 2700X 3330 X 2800
- IREL N T E MR BR A ml1g24 FIIHAKRS P« 2700X2400
A AR & K5/ e Zz B B BF &% B A % IE
139] BT P57 A A1 L 357 X 2764 1 1 JEEEC TR il
TR 140 ¥ HHER TR B4 i A A 500 X 2764 3 | HAp3 T
A B PRI A7 A 500 X 2764 2 | sererEREL
142 ¥ JE R B4 i A LA 357 X 2764 1 1 TN T2 4
3 DY T
3| A TFIIHL FFITHEE2700X 2400 (A [ &r: 1777, 96464kHtk. M| 2 & F&Fﬂg%]gz’
i) R, '
144 A REEES 0 B
| 145] ¢ B R Ebr b 2800 X 800 2 f
7] 146| ¢ 1T IR S AR, L=4150, JJ=2700, 96%25| 2 % SA4]
147 PR % Perhbrik L=490 8 %
148 ¥ IR 123 DU F2700 X 2400 F2 I L=705 H=2425 8 ] BT 18ITRE
149 ¢ B THORFES ElR A iEl KJ¥: L=3100 2 % KA —
150 [ % | BiRABE ObFD 3DB e 2 5 ikt
511 A BTk FFI1 %8 2700 X 2400 A=A %%@2:%1&17\ i : « %Fﬂgi%%_.z
H o DY B )
156 | ¥ 2R 1. Smm AR 28 (K £4.7030) 710 2415 20 ] BT 8IS
S T L. SmoE AR R (JK £4.7030) PR L=2365 10 i
157 % RES 1. SmmE AR 28 (K £4,7030) B=50 1=2820 5 %
158 ¥ RESHYA =S L. SmEAR B EE (FK £4.7030) B=50 1=2420 10 f FeA 5
¥ KV IAE [ EAR 1. SYERER 65%48 10 1 A%
e [159] A B R Sk 0 Lz el
i1 161 A [y 2k A bR 8055 56 1
162 A SR TN & FART, 124150, JJ=2700, 91425 5 % S
163 % 2T TR ISR R P KRE: 1=3100 5 ES ic e 1
164 | ¥ JZ 119 R JEbRbt Bl 2750 X 400 5 £
165] ¢ FFEH R FR 12 K LK%
166 | ¢ FEAE S HRSAEK 30/ 26 fF L 67K/
167 A b KR Y53 0.5, t1.2 0 14 R
168 A R t0.5, t1.2 0 i JEL iAo
169 * 21 TH IR A R =500 0 A
70| A S LD 10 kg HHffi5ke
171 A ATIK 0 kg
172 A TR 1 kg
173 A RIS 8 kg
%ﬁ 71| A BHLbE L 1 £
175 A ITEHN ®8 mm, L=1000 5 %%
176 | A ER] s 2 i
177 A . . LK D AR 22 41 2 %
sl a A IHER IR R FYTER D n
179 A FEEE EHif$10 20 K 0 %
180 A AMERER N E EilpdKE, 1-1850 0 1
181 A [FM2bE S B R L=510 0 f R
Mz 182 A 1K D84 L4 4 0 %
N [m)
A B R Ry iﬂf: ; .
185| A URIAS (M12, FLEES0) 0 £ IR
186 A of 84 Al QSX 105 72 AxH W ) e AR LI 0 £ | XEHE: 1618

i N

B4

L6 it




R - S

A

A S 12023011551-1552 E/¥/T] 4 / 4 / 5
Eails THJ 5000kg / 0.63 — JXVF B R~ 2700 3330 X 2800
= FIIARER BAMUES - 2700X2400
e lhes % B A K5 /#E z W B O &% JFE Hir % ¥E
1 [ FEERS 12 M20X 60 BOoTAL, k. RUER. IBRE | 48 = 8.8 ZuAft
2 | ESHRE -3 B2k M16X<40 BOoPEA, HRLEL. B WBREH 0 S CLREHD 8
2 |RISHRES . TR B2 M16X40 BioPak, Rl R W8REH 0 ESS CEERD 8
3 | SHE ERE 1M MI6X 70 B P, Bk, WERE 50 =
4 |[RAFERE 2R M8 X 40 BOoPHA, g, i) 30 £
5 | $44EAT BEAE M12X40 Bo P, sk 2R} 30 =
6 TR WK M12X45 BCP o, BRdk, BRRE 8 =
e 2 M8 X80 fo Py, sk, iR} 32 £y
7 BN RS T B B2 M12X45 BOoPA, g, i) 2 i
8 [N B 58RI r bt 12k M16 <60 [ N s N 20 £
9 [IIHBE S IR 4 W M12X 45 BOoP3A, ik, iER 0 =
BoL10 IS A 5 R 2R M12X45 B P, s, iBR 0 £y
Ze {11 TS TR SZ 48 P2 M12X 45 BLPis, sk, W2RE 0 Sy
12 | TS S T S 2 12 MI12X 45 BOT, gk, B2R) 0 ES]
13 |5 F R, YRS 12 M16X60 BroTAL, k. RUER WBRE | 80 E 8.8 ZuAfn
14 | FHEE SR B2k M16X45 BOoPE, BURIEA., gk B8R 50 £
15 | FHER S 2244 12K M20 X80 B P, R, g dERH 12 £y
16 |SAE SR E hiitpE 1B M20 X 45 BooFH ik, s ER o ESy
17 | BikE S H AT e IZRIM20 fio2 X P, sk 3XEREE [ 0 £ [
18 |hiHS5HiHH 1M M20X 90 Be~pPEs, e, WREE 8 =
19 |REER: B2k M20 X 50 B P, R, gk, dERH 14 i
20 |JEAE 5 HhIKAEE IR M16X40 B Pk, iRl s 2R} 16 £y
21 [HhIK 5 Hh KA B2k M10X 25 BOoPA, g, i) 20 £
22 |# 5 5RA. [P B2k M12X45 [ N s N 2 £
23 |BERR 5 AE B2 M8 X 30 fio T2, sk 2R, R | 60 ESS
P 24 |BERRGER: (BEARIZZZ) 12 M6 X 20 AOT, gk, d2R) 188 B | BRI s CEBD
g |20 |HURERCS BRAE I2 AR M8 X 20 P o, #idt, WRE) 6 B2
= |26 [BERUSERTIAR B2k M8 X 30 B T3A, gk, R 50 =
TS B2 B244 M8 X 30 Ao TEh, ghdk. W2R 104 =
97 LR E OKJEEE) 12750 B EERAKEE M16X120 FOFERCHE . SpEk, WRBE | 136 5a A=
FERLE 2 OKPE) 7550 ZEEBRRRRIE M12x120 FOFECHE . SpER, WBBE | 408 % ToaEE
98 FEHD [ s (REhE) ZERRIZHE M16X 280 TR PR WERE | 0 53
FERD[E 2 (hEHE) ZEHEIZRE M12X 280 TOTRVE, PR B ] 0 % K004-9
99 TAERE (580 J2H M16X55 PPk, gk dBRE 120 £
T YOREE (6380 B2k M12X45 BOoPA, s, i) 180 £
B 30 EFUEND 12k M16X55 fO P, sk, iR} 94 £y
AEhEUEDD BEAE M12X45 AP, sk, WERE 178 £ 8K
31 |EIFUED B2k M12X45 B P, s, iBR 90 £ TK5A
39 EPEER BE4E M16X55 BPas, sk, WZRp 112 =
S PE R B2k M12X45 BT, s, iBig 224 £
33 |BIFEFEAR T2 M10X 30 [ N NI 112 ESS
34 |0k EE R Bk B2k M10X40 [ N s N 4 £ ALz O UERD
W 35 X E AL X G T2 M10X30 FC-PHL, giEk, iBR) 30 ESS
36 % S5 AR T2 M8 X 25 il Pk sk BB R ] =
37 [ EPHR SR B2k M10X 25 [ N N 30 £
il 38 (a5 R ZEIEEEERKIE M12x120 Br FEy, sk, iR} 12 S E A 4%
R |39 [ B g 55 R i A B2k M8 X 25 BOoPA, g, i) 4 i
FR37 | 40 | PR 28 R [ JEEIKIB R M10 X80 AR RS, P, 18R 0 5a E A 5%
41 | BRR 222 20 5 0% B 57 2 B2k M10X 25 BOoPA, g, i) 12 i
e 42 |WBRZHE SR 2 M16X55 Br Py, sk, iR} 12 £ T13K
S a3 | 2R M6X 20 TR, sk, B8 | 8 =
44 |PRHENR RS SRS 12k M16X55 B P, s, IBR 8 £ T13K
5 45 | EHLZES EYL M24 X 140 S, s, s, s 4 = 8.8 %
” 46 | EHLR S5 4P R B2k M8 X 25 BT, s, B 4 £
Wl 47 | B 5 LB [ e EISEERAKIE M12x120 fFE TR, sk, B | 12 x AT 4%
48 | EHEES 5 lm) HZREM20 X 80 BT, PR SUBRE 4 S 8.8 %
49 | P I IR M10X 80 AFG T, PR, 18R 4 53 e A 44
50 | L 25 ] 2 JKYBAT 4X40 123 53
- 51 DI E I M6X 30 G FHE, HE, BRE | 8 E
= oy | 52 [FRIR R 2 B MEX 25 IR TH , BE | 4 £
T 53 |y E JEZAK 842 M8 X 80 BFEFEE ., B, e | 4 53 T iEAG 5%
54 | B & K EZRE M8 X 80 RGP, R, B | 4 53 WiEA 5k
55 |HLZiZEI E ZESEERRKEE M12x120 G-I s R | 8 X
v ¥-38 H 59 36 T



Skyfree
Skyfree:
114轨用M16X55

Skyfree
Skyfree:
114轨用M16X55


W # R /E R

EFERS H2023011551-1552 B3/ 4 / 4 /5
I E ) THJ 5000kg / 0.63 — JXVF RN R~ 2700X 3330 X 2800
B IREA - FIIHRER U - 2700X2400
W TS E A K5/ 1E Zz K e OF &% B B & F
56 | B HLIR A IR RE M8 X 80 AFE T, gk, e [ 4 53 Wl 4%
57 | MBI AELE 2 IKIBET 4X40 138 b
60 | I FEUKSH <[ & [ Sk B2 FE M5X 40 CG-FIR R, s, BERE | 4 5
Hgel 61 [tk O E 7S i M5X 40 AIE T H e Bk, 18 0 E
Befh| 62 |fH B E0T 28 B E KRR M8 X 80 ALFEFHGE ., S, BB | 0 53 Wl 4%
63 | WL LA 2 B IKIERE M6 X 50 AFETHE . B, BRE | 25 *x Wimf sk
64 ML Lo iE s B2k M6 X 25 40 5
65 | E H R MAX 10 60 b3
66 |Hh1 IR 5 AR 1R M10X 25 B T8, ik 0 5
67 |IIFSE 51Tk %3 124 M10X 30 Fo-Py, R, ERE 4 E
6 1Y AR S MR BT AR PUEKIEKE M5X 10 (R N 63 ES FEITHIK
L BRITH AR S 32 12 M8 X 25 B P, gk, MR} 10 i
HhIK 224 1R M10X 25 Ao P, gk, WEB) 63 5
69 |1 TIE 51 & B2 M10X 25 [ N ] 0 £
70 | FHIR B SR 12K M8 X 25 Ao P, gk, WEB) 10 5
NRIRESS - JEE I B A4M8 X 100 ALFEFEEE L SER, WEEE | 30 E
72 RIS Rk B2 M10X 30 ALFEFHE ., S, BB | 0 S
73 | B SR 12 M10X 30 AR, B 0 E
74 |8 12K M8 X35 P4, gk 0 £S5
RESuE:S 12 M8 X 30 By, i, IERE 26 E
1| 75 | A %S Sk B2k M8 X 25 AP EEE, gk 0 5
76 |MhIRFCHL I 12 E e ZFIEEEERKIE M12x120 AFETHE, sk, BRE | 95 ES Tos
TT | IR 3 W2 M10X 30 AFEFEE ., B, WBRE | 0 ESS ALFER]
ke E B2 M5. 5X 19 40 %=
8 PR FIZEEM8 X 100 20 £
79 |BifRIR kLA E e 2[5 3K I 22M6 X 25 I EEE . 128 14 %=
80 |1 1Bt 1 Thi s ﬁﬁﬁgﬁ& e i s
82 |17kl E2E ISEERRAIE M12x120 AIETHE, #, BE | o %=
83 |4 H TR X H e A 124 M16X 60 BooF2h, 7 RHER. Bk, 2R 0 S
84 fil Sk g MIOX 80 & P 48R} 0 S
| 85 HEE ARy B2 M6 X 35 AR, SR, BB | 75 £
86 EIRER AR AIRYY 14 M5 X 50 AFE TR, sk, B | 24 A~

iV

e ol e i




